
QUESTION : 

one side of regular hexagon is x+2 ,its perimeter is? 

 

Answer 
 
The perimeter of a regular hexagon is  
P = 6a, a is the side of the hexagon and P is the perimeter. 
P = 6x + 12 ,  the perimeter of the regular hexagon with a side x+2. 
 
 
Explanation 
 
Let 
a = x +2 , the side of a regular hexagon  
P = perimeter  
  
Required  
P = ? , The perimeter of the hexagon  
  
Solution  
  
The formula for the perimeter of a regular hexagon :  
P = 6a   
P = 6(x+2) 
   = (6*x) + (6*2)  
P = 6x + 12 , the expression for the perimeter of the regular hexagon 
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